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注  意  事  项

一、将你的姓名、考号填写在答题卡的规定栏内，将考号和考试科目在规定的栏内用2B铅笔涂满涂黑。考试结束后，把试卷和答题卡放在桌上。试卷和答题卡均不得带出考场。

二、仔细读懂题目的说明，并按题目要求答题。答案一定要写在答题卡的指定位置上，写在试卷上的答案无效。

三、选择题用2B铅笔将选中项涂满涂黑，主观题用蓝、黑圆珠笔或钢笔答题，使用铅笔答题无效。

第一部分：阅读理解 （共20小题；每小题2分，满分40分）
此部分共有4篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上相应的字母涂黑。示例〔A〕〔B〕〔C〕〔D〕
Passage One
    I came to see one particular prisoner. He was nineteen and after two years by himself in one room was awaiting execution (死刑) for murder. （51） He had just heard the result of a fresh trial. He was to serve there to his death. He was white-faced and talkative, a boy who had failed in high school and had all too easily got caught up in a night's adventure that had ended with burning down buildings, two deaths and those two years awaiting death.

This prison is no worse than many others and it is certainly better than some. After you have passed through the gates and doors and the electronic instruments (工具) have checked that you have no metal on your person – that you have no gun in fact -- you enter within the walls. At once you are astonished at the difference between the strict controls outside and curiously easy-going way of life inside.
I was wondering what twenty years might mean for one boy pushed into this silly system.

1. The boy _______. 

	A.
	had been too poor to go to school
	B.
	had wasted too much of his time

	C.
	had failed in high school 
	D.
	had worked hard at school


2. The prison is _______.
	A.
	neither the best nor the worst
	B.
	the second best in America

	C.
	the worst in America
	D.
	the best in America


3. When the writer went inside, he felt _______.
	A.
	greatly surprised
	B.
	disappointed

	C.
	pleased
	D.
	frightened


4. The writer was astonished at _______.
	A.
	the strict controls outside
	B.
	the difference between the outside and the inside of the prison

	C.
	the complicated series of gates and doors
	D.
	the instruments used to check security


5. The writer thinks that the prison system is _______.
	A.
	a very good one
	B.
	serious

	C.
	A quite bad one
	D.
	foolish


Passage Two

Reading is one of the most important things to judge a person’s command of a foreign language. There are two effective ways to improve reading comprehension.

(52) Reading widely is of primary importance. Reading is basically a process in which a reader tries to get the messages in a language. Many people have the mistaken idea that a good understanding of English grammar is equal to good reading skills. Yet, we often find that this is untrue. Only when we concentrate on the meaning rather than the forms of language do we understand what we read. And the more we read, the better we understand.

Building a large vocabulary is also very important. First, we can enlarge our vocabulary by reading English articles and books in fields. Only by coming across new words and phrases repeatedly can we store them in our memories. Secondly, memorizing words from vocabulary lists may also be helpful. 

6. Reading is _________. 

A. the most important thing to judge a person’s command of a foreign language

B. very important to see if a person grasps a foreign language well

C. the only important thing to judge a person’s command of a foreign language
D. the most important way to build up a person’s vocabulary

7. What are the two effective ways to improve reading comprehension?

A. Reading widely and building up a large vocabulary.

B. Reading widely and memorizing words from vocabulary lists.

C. Understanding of English grammar and building up a large vocabulary. 

D. Understanding of English grammar and reading widely.

8. According to this passage, a good understanding of English grammar is ________. 

A. the most important thing to understand what we read

B. equal to good reading skills

C. equal to good understanding of the meaning of language

D. a good understanding of the form of language

9. We may enlarge our vocabulary by the following ways EXCEPT _________. 

A. reading English articles in fields

B. reading English books in fields

C. memorizing words from vocabulary lists

D. memorizing the form of language

10. ‘Coming across’ in the last paragraph probably means “__________”. 

A. meeting        B. crossing          C. fetching          D. knowing

Passage Three

A report on smoking published in 1979 by the U.S. Surgeon General shows that over fifty million Americans, including six million teenagers, smoke cigarettes regularly, and that 346,000 Americans died the previous year of diseases related to heavy smoking. (53) Research conducted in many countries has indicated that smoking causes lung cancer, heart disease and various respiratory ailments and that pregnant women who smoke run the risk of having deformed babies. 
Responding to the overwhelming medical evidence of the harmful effects of smoking, many governments have taken action to reduce tobacco consumption. Some have imposed heavy taxes on tobacco products; others have prohibited cigarette commercials and conducted anti-smoking campaigns. None, however, has even considered prohibiting the sale of tobacco. This is due partly to the political power of the big tobacco companies and partly to the fact that so many people, particularly in influential positions in society, are habitual smokers. Tobacco farmers and workers are also strongly opposed to legislation (立法).

11. According to the passage, smoking causes the following disease EXCEPT__________. 

A. heart disease     B. lung trouble       C. bronchitis         D. cold

12. A report published in 1979 tells us __________ American adults smoke. 

A. fifty million      B. six million       C. forty-four million    D. 346,000

13. No legislation has been made to prohibit the sale of cigarettes because of the following reasons EXCEPT that _________. 

A. tobacco farmers and workers are against it

B. there are a large number of heavy smokers

C. considerable profit is made from cigarette industry

D. the big tobacco companies possess political power

14. “Anti-smoking” in the second paragraph probably means “________”. 

A. against smoking                  
   B. for smoking   
 C. approving smoking               

D. selling cigarettes
15. Several measures have been taken to reduce tobacco consumption EXCEPT _________. 

A. Imposing heavy taxes on tobacco products

B. Prohibiting cigarette commercials

C. Conducting anti-smoking campaigns

D. Prohibiting the sale of tobacco

Passage Four

(54) Just like children, deer often cross British roads to get to the other side. But the cost is deer life. At night, speeding cars hit and kill the animals. (55) Now foresters are using natural animal instincts to prevent dangerous crossing.

In England, the British Forestry Commission has installed thousands of glowing red “wolf eyes” along woodland (林地) roads. The eyes are actually reflectors, plastic bars like the red reflectors on your bike. The ten-centimeter long bars are fixed on posts, only these signs are directed towards the woods rather than the roads.

When cars speed by, light rays from car headlights reflects off the reflectors’ shining surface and flash into the woods. Deer are instantly scared by the wolf eyes –even though wolves haven’t hunted deer in Britain or even lived there for hundred years!

Scientists think the glowing light imitates the “eye shine ” of nightly beasts. (You’ve probably seen eye shine on cats. Mirror-like cells in the eyes reflect some light that hit them.)

The deer must not have “forgotten” that a wolf can run up to 72 km per hour in hot pursuit, or can sniff deer out from 2.4 km away. In some areas where “wolf eyes” keep watch, 90 percent fewer deer have been killed at night.

16. In Britain, deer’s life is threatened _______.

A. by worsening environment   

B. by nightly beasts

C. when they cross woodland roads     

D. by illegal hunting

17. “Wolf eyes” in Para. 2 refer to _______

A. plastic bars fixed on bikes

B. glowing lamps designed to imitate the “eye shine” of wolves

C. reflectors reflecting light rays from car headlights    

D. lamps fixed on top of posts to allow deer to see more clearly
18. According to this passage, the idea of “wolf eyes” shows that _______

A. the deer is a kind of very brave animal        

B. animals can always be easily cheated  

C. the wolf is a kind of cruel animal 

D. the instinct of an animal can keep up a long time

19. It is implied in the passage that ________.

A. a wolf can run very fast in hot pursuit

B. Great Britain pays great attention to animal protection   

C. a wolf’s smell is ten times more sensitive than man’s

D. Englishmen like to build their highways through woodlands

20. The idea to use “wolf eyes” to protect the deer is _________. 

A. successful       B. unsuccessful       C. doubtful       D. unscientific
第二部分：词汇和结构 （共30小题；满分40分）

第一节：此小节共有20个未完成的句子，针对每个句子中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上相应的字母涂黑。示例〔A〕〔B〕〔C〕〔D〕 （共20小题；每小题1.5分，满分30分）
21. Don’t make any noise,       ?

   A. shall you                       B. will you  
C. do you                         D. don’t 


22. Since I came to Beijing, I        two bicycles stolen.

 
A. have had         B. had   

  C. did        D. have

23. What he said      true. 

 
A. are   


B. is  


  C. be   

 D. do 

24. I enjoy       English books. 

 
A. read  






B. to read   
  

C. reading  





 
D. am reading

25. This movie is more interesting      that one. V

 
A. so   


B. as  


 C. better 
    D. than

26. There is a big three        of the house. 

 
A. in the front of   B. in front of     C. in front      D. in the front

27. If I      you, I would do that again. 

 
A. am   


B. was   
    C. were   
    D. will be 

28. I       the evening newspaper when the telephone rang. 

 
A. was read   





B. am reading 
C. was reading 




   
D. read

29. Prof. Blair       in that university for over 30 years before he came to China.

 
A. has taught   





B. have taught  
C. have been teaching  



D. had taught

30. A new hospital        now. 

 
A. is building   





B. is being built 
C. is being building  



D. is built

31. The flood in south China has made many people        . 

 
A. homelessness   




B. homesick
C. homeless 





D. homelike

32. He comes from my       . 

 
A. hometown   

 B. ton      
C. northern      D. too

33. Many people are        on the lake. 

 
A. sleeping  

 B. boating   
C. sitting  
    D. climbing 

34. The room is so quiet that I can hear the      of my heart. 

 
A. strike  


 B. sound  

C. beats   

 D. knock

35. The box is too      for him to carry. 

 
A. light   


 B. heavy 
   C. smooth 

 D. deep

36. This is one of the most      books I have read. 

 
A. interesting   

B. interested    C. good     
 D. expense

37. I usually go to work       bike. 


 
A. in    


B. at     

C. by     

 D. on     

38. Last year, I spent a lot of money     DVDs. 

 
A. in     


B. for    

 C. at  

    D. on 

39. Different people have different        about this. 

 
A. understandings  




 B. surroundings
   C. sightseeing  





 D. buildings

40. The newspaper on the desk is not     . 

 
A. mine  


B. him   

 C. me  
    D. her    

第二节：此小节的短文中共有10个空白处，针对每个空白处有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答案卡上相应的字母涂黑。示例〔A〕〔B〕〔C〕〔D〕（共10个小题；每小题1分，满分10分）
When I as abut twelve, I suddenly developed a great passion for writing poetry. I gave up all my other hobbies, such    41    collecting stamps, and spent all my spare time    42    poetry and writing it. This habit of writing poetry on every possible occasion soon got me    43    trouble at school. If a lesson did not interest me, I    44    take out my notebook and start writing poems in class. Of course I did this very    45   , but it was not long    46    I got caught. One day    47     I was busy writing a poem during a geography lesson, I    48    to find the teacher standing over me, fuming with anger    49    I was not paying attention. He tore the poem up, with a    50    not to waste time in his class.

41. A. as


B. so



C. is


D. that
42. A. reading

B. read



C. being read
D. to read
43. A. with


B. at



C. on


D. into
44. A. will


B. shall



C. should
   
D. would
45. A. hard


B. proudly


C. cautiously
D. fast
46. A. after


B. before


C. soon


D. for
47. A. which


B. what



C. when


D. that
48. A. looked down
B. looked up


C. looked off
D. looked out
49. A. because

B. despite


C. although

D. but
50. A. smile


B. feature


C. acting

D. warning
第三部分：英译中 （共5句；每句4分，满分20分）
请把第一部分阅读理解4篇短文中的5个划线句子翻译成中文，并把译文工整地写在答题纸上。
51. He had just heard the result of a fresh trial.
52. Reading widely is of primary importance.

53. Research conducted in many countries has indicated that smoking causes lung cancer, heart disease and various respiratory ailments and that pregnant women who smoke run the risk of having deformed babies.

54. Just like children, deer often cross British roads to get to the other side.
55. Now foresters are using natural animal instincts to prevent dangerous crossing.
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Part Ⅰ  Reading Comprehension  (40 points, 2 points each)


1-5  CAABD    
6-10   BADDA    

11-15  DCCAD     
16-20  CCDBA
Part Ⅱ vocabulary and Structure  (40 points)

Section A  (30 points, 1.5 points each)

21-25  BABCD  
26-30  BCCDB   
31-35  35CABCB  
36-40  ACDAA
Section B  (10 points, 1 points each)

41-45  A A D D C
46-50  B C B A D
Part  Ⅲ  Translation  (20 points, 4 points each)

51.他刚刚听到他案子重新审判的结果。
52. 广泛的阅读尤为重要。
53. 许多国家的研究表明，吸烟引起肺癌，心脏病和各种呼吸疾病，吸烟的孕妇还会有生下畸形儿的危险。
54. 正如孩子们一样，鹿也需要穿过英国的公路。
55. 新的森林管理员们利用动物本能来防止横穿马路的危险。
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